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adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La, Ba]
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saturation L
adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La/Ga, Ba/Ga]
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adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00
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logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, Ba]
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saturation L
adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, Ba/Ga]
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eex90−7n

eex90−5a

adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, Ba]
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adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, Ba/Ga]
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adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00
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lin[sensitivity]
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logGa= logGo−0,35
 [Ga, La, ]
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adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, ]
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adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La, Ba]
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logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
 [La/Ga, Ba/Ga]
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adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, Ba]
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saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, Ba/Ga]
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eex91−7n

eex91−5a

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, Ba]
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eex91−6a

saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, Ba/Ga]
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eex91−7a

adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

lin[sensitivity]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga, La, ]
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saturation L
adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

lin[saturation]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
 [Ga/Ga, La/Ga, ]
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TUB-test chart eex9; sensitivity 570,470,520, LBG−>L/G & B/G, lin[thresholds]=0 & 0,04
lin[sensitivity] and lin[ratio], LMS-R21=570,470,520, YB antigonisme

http://farbe.li.tu-berlin.de/eex9/eex9l0n1.txt /.ps; only vector graphic VG; start output
see separate images of this page: http://farbe.li.tu-berlin.de/eex9/eex9.htm
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